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2% Fraction,
L= 1oo7, i = 0Tk 78 = 31-57.
'/9_:5031. g = 8-337 S/8 = 62-57.
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¥ 68 7. of L50?
= (so 7. of €8

lvo /. — ¢ g
SO —» 344
(02 Ang

—

# W.¢/. o (667 7

D L.gFY. of q0.¢

[
?X -6 = IS« ], Ang

—_—

X2 25-6 . egi 250 9
— 250 7. q@ 25.¢

ZO—D 7/1. -ﬁ 51'2

20 % 3 10 .
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(SE 4859 + 4oy + 9034
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Q01610
4gs 9
cu24
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. 4859 Uy + 9234

Hooo goo S9
Gooo 4 o0 24
qooor 200 ay

lqo00 400 + 13 = 20SIF
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B paber.

L* 46oo + 84ov + 7600 = 20, 600
2+ 3848 + 52238 - 33l6 = s3 370

S- gy + 1982 — 168 = 23qgQ
b4 2368 + 146U +l08 —29 = 39|

S+ 49352 + 61264 +89s1¢c =(,9q,952
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¥ Mulkply by S He (pimg hamd
Mulkiply by 0§ Hon
a) Cﬁ: 648 xS dzvélebdpﬁjﬁvb oniael
ot bapen .

480
7

= 3240 Ay
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b) 22 uxs

" 22240
Q.

= 6120 4ns .

L) 325 xS

= 23250
2
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=—8297%0
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€. (@) 313x25 i,
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= %(300

=1825 Ang.
(b) 1816Xx25
—181¢ 00
= 4SUOD 4ng .
4
() 2131 X 2.4
2213 00
——;——*‘ = S32F5 Ang.
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L=y 1= 000 wt=qu 3=acr W =168l
22 -4 2% =14y 22%=ugy B =lo0y  YQ? = [1¢y
%= 9 183%= 169 23*=s9 33% =089 Ug® =iayq
4= ¢ %= 19¢  24%=s%¢ Y= s¢ 47— 193¢
S*= 9s ISt =005 aqs5*= €25 ast= 1225 ys?.- 2098
6’: 3¢ 16%=0s6  26%=¢7¢ A= jg9¢ U6 =a,lg
;zi ::r ,Z:_: 289 zaifwﬁ 34:: I3¢a 43%= 9209
o Al 282 R
=361 29" =gy, 39" =59 49% = 20
16%=100 207 4p9 30"=q0p  4oky 2
=100V S0~ = 2500

Taick of Squwe of amy Buwo da’gﬁb Mugnbess

@Uaﬁamzaﬁf‘vq -3

L (€3)%
4o
X6 09
260 2 6€X3x2x (0

396 9
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Q) wsite Hw %wared Gf endividual muwmbes,
6
"
3¢ 09 =2¢oq

b) f"lulh‘bla, Har d@i‘é

S Puttiply by 2, Ham 1o

'BX2 = 3¢x (o = 344

€ Adel (2) 3 (c)

3609 +3¢0 = 3969 Ay

——

2.
2. (12)
Ll

qa 81
122 €0 > Txq X 2x [0
g2 4l

2. (3"
L
gu lé
€40 = BX¥UX2 X (0

10S € Ay
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X T to Sguse of least 30 M onimnel .
Reaﬂ? it teked less tan LO Second.

Squze Root

L.
N I S, o P e U )

/

Al @ THve
U arion
[ * we obsenved Hiat wnil digit
2® = "557,&%0&0% Nuwmbery 14
g%= 9 emfatﬂam-be,: L, 4,5,6,9 J
4% = 16
&P a5 1o0a] [ % wat dgtof & |
c%= 8¢ 4 3 2,8 Numbern o 2,3,F8
22 = 4 s s o Sqpnes sk H
8> = ¢y ¢ 5| |7 ownmben.
1’; Z_t%é La -8z Jra = 138.0s
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«ILO 89
@
Unit olisit eithen
Gz_lod—t 3,
\“ ”/ La%ibgmuu

LA 12.Clo & smallewr tham (2,

@

L_?que) Corallesrs Numbes 3,
3

—_—

S Ak

(B)

~N739¢

Leqf

, 6

|

=86 Ang

J

..O

67732
8x

\/
9= 32 (7305 biggen)

Smallesy Muwmben

I
To acheie expentise,

Lb& iba

fwnﬁ/wso

becouge (3 Fs b‘@@""‘J

im Hus tick.
Fond 8qune Swot
of atleast Lo No.

.

v/

6 X1 =g (Ut Tsblgger)

\/
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Cube %’ Cube» @00'6

P = U3 = 1331
2 = 8 120 = 172§
3 = g3 13° = 019%
L3 = gy 14° = o4
5% = 125 15% =33%%
63 = 216 163 = 4096
1% =343 1# = qaL3
¢’ =512 18°% = 5832
q° = 329 19° = 6859
10’ = 1ow0 2.0° = Bovo

% Leawn Cube of L to 20 for Huw fagien
(alcalation.

¥ Todck to pimd Cube of ary muwmben

£g (12)°
(@) Make Cube of L§ 2.
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3
L"=] 23:86—3 o!{é‘c{—mecemmat fmrcwa’o

U add 2. 3¢ pefore 8.

Loog
(b) Multiple (12)° all digits.
LX2.%3 =6

() Multiply € by arigimal Mumben (12.).
12X 6 =32
() Adek . susult of cay § (0 accrdimg gn following
lua.at .

C.g. l- 1008

12— s quce, S Lf_lf} O,LUJCLH-S blevn k..
1728
S Ax¢ X3 =5U

e§.2. (34)< ¢

YR 36

073216 x5y

[‘—— Ly
\/ - 18 0 X
32
ot [k
LCCSE Ang.

9% 3%3 = 18
3 7

z L {
goo t \r
| , 8027
1 Y
Q1€ ﬂ
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Is Cube, with Hus FMethal % o will Super
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¥ obserwc one Mm,a._ﬁm e, Cube og L-1o wwik

.LS:__!__
2= g«
2F¢

3% =
4% = 64
3 unit Sigit Ttelomanectedt
&= |26 s Same ay
3° = 3u3e
83: SI12<
q*= 729
[0%= lovo

¥ Unit olféﬂi' eﬁi Cube. 5ot &5 same ad the umil
d-@?fcﬁ Hrat Cube 2ot .

ey 32768
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% Uit ot fs 8, which fs also wmit digit, of 2.

2

— e ¥

¥ wsdte Hu Nuwmbes qgfe/zr ES“J blace Cf’:rgrw Jd‘alrds)
& Numben. L.€-

221 &

[Te8 4o
L 1

¥ 2, 32

32 4ng.

¥ €:8-2- 2,862,080  yi_¢qy

L./ x’umi{' it

262 4-
J

Penfact cube just V64 Andg .

¥ 83 Tasg— 03- g
T tunit dgit = 2
N
mead Cube !
2

Just befove €s 4

3 g,
4= (4)
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VBODIMAS Rule <

BODMAS Ts am ey, g It stamd fmr byacket

of division,, Mulliplication, Addifion § Subtwachen.
Jb explain the orden of cpenation to

Solve, am expoession .

Vo Vinuculom (Bar) — ()

B2 Brnacket Of
¢ Y>> ]
Sonall big
anf
D - va‘f&fgrL

M- Mulkplicatien VBODMAS
A2 Aclelition LetF i

€8 L+ Solve: 1800 < I0p § (12-6) F Cou-n)]
T 1800 % (oo fe+in ] [Solve ) fiagt ]
1800 + (o0 {18

I8oo = | oo
— =L 4.
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c5. 2. Solve !
rHla 2 eh b -1+ (b )
— (Q) fﬁ,,zsf of all Solve Ban (—) —
- Eé*%{f%—a’(zé-r’a)}]f‘(%-%‘f%)
tb) Salve, Sl bracket—
=Ll -L(5-5) Y + (hopus)
= [3a{g-1L P")J]ﬁ

=[3r+{E-227] =
© Solve £J Mcke{—;—
=18 . 1 .| 18
fq . Q_q]T E‘
) Solve [ ] Bracketi—
=8, 24 - I8
Z’X L "€
78+ 13
= 78 x €
(3
— 36 4mns

21



_— [

1010 QDAL

Unleash the topper in you

_Abproximabion

& —

B -

O 0) 0 03 O4 05 0§ 0671 08 6a o0
1 1 1
Jf Hu walve (s bj/wo Jf Ha walve of D eciomal
to 0.5 Hunm, take Hie b/w 05 to -0, Hun Hake
Psuviouy ‘}m}ee“m, Hw oraxt jmﬁgm—.

21-4¢ =~ 21 53-57 2754

12-38 = 19 o34-9F ~ 935

237.461 23 l0gQa-1¢ 2 |68lo

C.8.l. £8.029 + 323.939 = (»*) — 18-719

D 68-029+ 23.939 = n>— 18.19

Lo

68 + 3y = 2> - (9
2 5%
wr=291 . Y =l 2

=L 8RS Ay,

€8+ 2. 13.682 X [1.213 X 21.8¢4

L
4 x17x22 X9

)(8-7‘3[:?

“4BE 22 440 Ay .

€83 25:-05% of 2845 4 14.95 x 2400
A) 3800 B) 3BCoD ) 3580D D) 3¢ 700 _.

E) 34500
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